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Estado de um gás 

• → 

•  →

• → 



→

(𝑂2(𝑔)) (𝐶𝑂2(𝑔))

→

𝐻2𝑂(𝑙)

𝑣𝑎𝑝𝑜𝑟𝑖𝑧𝑎çã𝑜
𝐻2𝑂(𝑣)



o

•

•

•

•

•





Pressão Pa =  
𝐹𝑜𝑟ç𝑎 (𝑁)

Á𝑟𝑒𝑎 (𝑚2)



105

1𝑑𝑚3 = 1𝐿
1𝑐𝑚3 = 1𝑚𝐿

1𝐿 = 1000𝑚𝐿 = 1000𝑐𝑚3

1𝑚3 = 1000𝑑𝑚3 = 1000𝐿 = 106𝑚𝐿 = 106𝑐𝑚3

𝑚3



𝑇 𝐾 = 𝑇 °𝐶 + 273



o

•



𝑝 ∙ 𝑉 = 𝑘 ∴ 𝑝𝑖𝑛𝑖𝑐𝑖𝑎𝑙 ∙ 𝑉𝑖𝑛𝑖𝑐𝑖𝑎𝑙 = 𝑝𝑓𝑖𝑛𝑎𝑙 ∙ 𝑉𝑓𝑖𝑛𝑎𝑙



•



𝑉

𝑇
= 𝑘   ∴    

𝑉𝑖𝑛𝑖𝑐𝑖𝑎𝑙

𝑇𝑖𝑛𝑖𝑐𝑖𝑎𝑙
=

𝑉𝑓𝑖𝑛𝑎𝑙

𝑇𝑓𝑖𝑛𝑎𝑙

•



𝑝

𝑇
= 𝑘   ∴    

𝑝𝑖𝑛𝑖𝑐𝑖𝑎𝑙

𝑇𝑖𝑛𝑖𝑐𝑖𝑎𝑙
=

𝑝𝑓𝑖𝑛𝑎𝑙

𝑇𝑓𝑖𝑛𝑎𝑙





𝑝𝑖𝑛𝑖𝑐𝑖𝑎𝑙 ∙ 𝑉𝑖𝑛𝑖𝑐𝑖𝑎𝑙

𝑇𝑖𝑛𝑖𝑐𝑖𝑎𝑙
=

𝑝𝑓𝑖𝑛𝑎𝑙 ∙ 𝑉𝑓𝑖𝑛𝑎𝑙

𝑇𝑓𝑖𝑛𝑎𝑙

𝑇 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡𝑒

𝑝 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡𝑒

𝑉 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡𝑒

𝑝𝑖𝑛𝑖𝑐𝑖𝑎𝑙 ∙ 𝑉𝑖𝑛𝑖𝑐𝑖𝑎𝑙 = 𝑝𝑓𝑖𝑛𝑎𝑙 ∙ 𝑉𝑓𝑖𝑛𝑎𝑙

𝑝𝑖𝑛𝑖𝑐𝑖𝑎𝑙

𝑇𝑖𝑛𝑖𝑐𝑖𝑎𝑙
=

𝑝𝑓𝑖𝑛𝑎𝑙

𝑇𝑓𝑖𝑛𝑎𝑙

𝑉𝑖𝑛𝑖𝑐𝑖𝑎𝑙

𝑇𝑖𝑛𝑖𝑐𝑖𝑎𝑙
=

𝑉𝑓𝑖𝑛𝑎𝑙

𝑇𝑓𝑖𝑛𝑎𝑙

•

𝑝𝑖𝑛𝑖𝑐𝑖𝑎𝑙 ∙ 𝑉𝑖𝑛𝑖𝑐𝑖𝑎𝑙

𝑇𝑖𝑛𝑖𝑐𝑖𝑎𝑙
=

𝑝𝑓𝑖𝑛𝑎𝑙 ∙ 𝑉𝑓𝑖𝑛𝑎𝑙

𝑇𝑓𝑖𝑛𝑎𝑙



Equação de Clapeyron 

𝑝 ∙ 𝑉 = 𝑛 ∙ 𝑅 ∙ 𝑇

• 𝑚𝑜𝑙−1. 𝐾−1

• ≅ 𝑚𝑜𝑙−1. 𝐾−1



•

𝑑 =
𝑚

𝑉
∴ 𝑑 =

𝑀(𝑚𝑎𝑠𝑠𝑎 𝑚𝑜𝑙𝑎𝑟)

𝑉(𝑣𝑜𝑙𝑢𝑚𝑒 𝑚𝑜𝑙𝑎𝑟)
∴ 𝑑 =

𝑀

22,4



𝑝 ∙ 𝑉 = 𝑛 ∙ 𝑅 ∙ 𝑇

𝑝 ∙ 𝑉 =
𝑚

𝑀
∙ 𝑅 ∙ 𝑇

𝑝 ∙ 𝑀 =
𝑚

𝑀
∙ 𝑅 ∙ 𝑇

𝑝 ∙ 𝑀 = 𝑑 ∙ 𝑅 ∙ 𝑇 ∴ 𝑑 =
𝑝 ∙ 𝑀

𝑅 ∙ 𝑇


